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mcﬂce TEST 4 EXPLANATIONS

N I: MULTIPLE CHOICE
This

is from one of the famous Lincoln-Douglas debates; here, Douglas argues in favor of
sates rights. You should note that it is possible to eliminate several of the choices based on the
verb used. The speaker presents an argument; he does not analyze, (A), criticize, (C), or describe,
(D). Douglas says directly that he is vehemently opposed to the idea of slavery in his home state of
Tllinois; he argues in favor of letting each state decide the issue for itself and goes on to chaim that
the greatness of the country rests on the sovereignty of the states to do so, which is expressed in (B).

You might not agree with what Douglas is saying in this passage, but he controls his tone
carefully; remember, he is engaged in a debate at a time when people turned out in droves,
expecting not colossal home runs, specracular slam-dunks, hockey fights, or touchdown passes,
bus brilliandy conceived, expertly delivered rhetoric. If you use POE, you can narrow it down to
three choices by eliminating (A). Choice (D) may be tempting, but be careful not to apply a 21*-
century point of view to 19*-century reality. While we would see Douglas’s defense of states’ rights
of slavery as outrageous, the question is about the tonc of the author. There is no evidence that
the author expresses outrage. The tone is best described as the tone of 2 debate; in other words,
a formal discussion of the major issue of the day. Also, remember thar a polemic is a controver. sial
argument. The correct answer is (C).

The speaker uses inductive reasoning (reasoning derived from detailed facts to form general princi-
ples) thar goes something like this: you all agree that it was right for Illinois to vote as it chose and
abolish slavery; thus, every state should be able to make its own choice on this issue. Moreover, every
state should be able to make its own choices on just about everything. The correct answer is (A).

In this instance, the word it is referring to the choice of New York to make the distinction between
4 negro who held property and one who did not (lines 32-33), so (C) is the best answer. Each of the
other answer choices points to a different antecedent and is therefore not correct.

The long sentence in lines 3742 accomplishes many of Douglas’s goals at once. It defines the term
(lines 39-41), accuses Congress of inzerfering (line 41), and encourages his readers to act conscien-
tiowsly and rigidly (line 38). Thus, (A) is the correct answer because this question highlights the word
EXCEPT in capital letters. There is no evidence of a classification taking place in this sentence.

Check lines 18-37. The author shows that Maine and New York have very different laws regarding
African Americans, and that Maine and llinois are not interfering with cach other. Lines 4041
define popular sovereignty as a guarantee 10 each Stare and Territory the right to da as it pleases on all
things, local and domestic. This supports cicher (B) or (C). Choice (B) is too strong, since it uses the
word prove, and the author has not necessarily shown that the laws are swccessful. Thercfore, (C) is
the best answer.
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The correct answer may not have been readily apparent, but using POE allows you to eliminate (A)

through (C). Douglas uses no anecdotes, much less clever ones; likewise, there are no symbols 5
metaphors. The authorities in this case are not only the other states (meaning the voters in the other
states), but also the founding fathers: Washington, Madison, or the framers of this government. T,

correct answer is (D).

Douglas states his own opinion on slavery (his official opinion, at least) at the beginning of the
passage (there is no man in the State who would be more strenuous in his opposition to the introductisy,
of slavery than I would). Douglas also presents a clear position on voting: 1 would never consens to
confer the right of voting and of citizenship upon a negro. Finally, there is a clear position on property:
1 would not make any distinction whatever between a negro who held property and one who did oy,
Of course, this implies that he would allow African Americans to have property, but he states thar,
propertied or not, they should not be able to vote. With this information, it is possible to answer

the question with certainty; the correct answer is (D).

Use POE! The last paragraph claims thac Abraham Lincoln’s policies will brif]g about the end of
Americas greatness and plunge the nation into Civil War. The new doctrine (line 70) is in opposi-
tion to popular sovereignty (line 54) and thus would lead to 2 consolidation of power, (A). Westward
expansion, (B), is suggested in lines 57-59, and the author states that popular sovereignty enabled
such expansion (line 64), so Lincoln’s new doctrine may hinder that. Choice (C) is explicitly stated in
line 71. Population, (D), is mentioned in lines 56-57, but there is no direct link between Lincoln's

policies and population growth.

Here Douglas uses a scare tactic by saying that Lincoln and his party are deliberately infringing on
states’ rights to incite a civil war, making (C) the correct answer. Hopefully you were not fooled by
(B). While it is true that Douglas is blaming the war (that hadnt yet begun) on Lincoln and his
political party, he is not shifting any blame; nowhere does he imply that anyone was blaming or
accusing Douglas and his party of trying to provoke a war, and to shift blame, Douglas would have

to have had blame at some point.

In this passage, Douglas is arguing for the application of the doctrine of popular sovereignty against
the claims of Abraham Lincoln, which is why (A) is correct. He does not spend his time talking
at length about Lincoln’s failings, so (C) is incorrect. Douglas offers a nuanced argument, but he
does not spend his time exploring the various meanings of a universal principle, so (D) is out as well.
Because Douglas actively criticizes Congress (in lines 41—42, for example), (B) can also not be

correct.

The first paragraph lays out the definition of convivencia (“coexistence” among Muslims, Christians,
and Jews in medieval Spain), so (D) is correct. Choices (A) and (B) are incorrect because the author
does not want to say that medieval history is unimportant, just that it is portrayed incorrectly in
popular histories, which he hardly wants to reinforce. Notice the way the test-writers used words and
phrases that sounded correct (discount the importance of and the popular perception of), but were not
part of complete, correct answer choices. Remember that if an answer is slightly wrong, it is entirely
wrong. Choice (C) doesn’t appear in the passage, which does not discuss historical sources.

For more free content, visit PrincetonReview.com
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The author strings together quotes from various authors in order to retell the traditional fairy tale of
medieval convivencia, which he then goes on to attack. This is why (D) is correct. While the author
is frustrated with the narrarive of medieval history offered by most historians of medieval Spain, he is
oot confused by the narrative, so eliminate (A). Though the author criticizes the works of others, he
Joes not offer his own interpretation in this excerpt, so eliminate (C). Choice (B) is also incorrect;
although the author is interested in how the proponents of convivencia misinterpret history, he is less
concerned with their understanding of evidence. Besides, thac's not the primary reason he used

quotes in this paragraph.

The primary purpose of the footnotes in the first paragraph is to document the sources for the

ressions in quotes, so (C) is correct. While footnotes can demonstrate the range of sources in a
work or reveal that all the quotes are from the same source, neither is the case here (there are two
SOUrces), SO (A) and (B) can be eliminated. Choice (D) is not likely to be true because that is a rela-
dvely shallow reason for including footnotes and not one that can be easily detected.

The second footnote clarifies that the expression culture of tolerance originates in the subtitle of
Maria Rosa Menocal's book, making (D) correct. While the author is interested in undermining the
claims of Menocal, (A) is not correct. Neither are the other choices, which do not accurately portray
the author’s purposes for including this information here.

Genre refers in this case directly to fairy tale, so (A) is correct. The AP exam writers love to embed
these grammatical/vocabulary questions into the multiple-choice section. Remember to take your
time rereading a few lines above and a few lines below the sentence in which the word “genre”
appears. Then, eliminate every word that you know does not relate to genre directly, such as children,

().

The author does not mention documentary evidence or methodology, so eliminate (A) and (C)
right away. He does claim that some scholars have distorted the relationship between Islam and
Christianity during this period, but he does not do so in terms of (B), which is not precise. The
author believes that convivencia exaggerates historical reality and distorts the history of medieval
Spain into a fairy tale, so (D) is the correct answer.

Don't forget the word EXCEPT (printed entirely in capital letters) or you will have trouble with this
kind of question. Four of these answer choices will be accurate in describing the tone of the second
paragraph and one will not. The author shifts his tone between sharp criticism of academic works
and elaborate metaphors and humorous insults. He certainly does insist on some of his claims, so
(A) is accurate and can be eliminated. Acerbic, (B), means sharp or bitter, and accurately describes
much of this paragraph, so it can also be eliminated. At no point does the author express a distinct
feeling of relief, so (C) must be correct.

This question asks you to identify the author’s main point in this passage, which is that the propo-
nents of convivencia have encouraged people to believe a fairy tale about medieval Spain rather than
its real history. Choice (A) is merely the author’s introduction of the concept of convivencia, while
(D) is more like an aside than the main point. While (C) is appealing, it is making a specific point
about Asian stereotypes that the author sustains throughout the second paragraph, not the entire
passage. Choice (B) empbhasizes the disconnect the author identifies between convivencia as a myth
and the historical record, which he does not believe supports this view of convivencia. The answer

is (B).
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By clling The Ormament of the World a syrupy confecrion that simmers under a thick layer of |Asian
stereorvpes], the author uses a metaphor built around food imagery to attack the book as unserioys,
Thus. (B) is correct. Remember that allitcration. (A), is the repetition of the same sound at the
beginning of 2 word: and allegory. (C). is an extended series of symbols in a story. There is no 5
directdy paradoxical (contradictory) claim in the sentence, so climinare (D).

As you saw in the previous question, the author directly states that the chapter titdes of The Ornamen,
of the World emphasize the extent to which the book simmers under a thick layer of |Asian stereo-
wpes), so (D) is correct. While the titles do refer to Islamic history, (A), and use poctic images, (B),
the titles are not included to demonstrate cither of these features. The author makes many accusa-
tions in this excerpt, but he does not accuse Menocal of hyperbole, so climinate (C).

This is a challenging question. The author inserts and in the delicious irony as an aside in the final
senrence of the second paragraph. Throughout the paragraph, he alluded to sickly sweet food prod-
ucts in the overly dramatic characterizations of convivencia: he criticizes Menocal’s syrupy confection
and says that it simmers under a thick layer of [Asian stereotypes]. This metaphorical languagci,
extended by his choice of the word deliciows here, so (D) is correct. The phrase is too short and too
unimpommtodoanyofdmusksmmdoncdindxcothcrdxmcanswcrdmoias.

This is a critique of a particular historical perspective, but it is hardly comprehensive or complete
enough to be considered a trearise, so eliminate (A). And while the author is certainly writing a
lfimiﬁd.hcisnmqmlifyingitinthcsmscoflimitingorrcstricdngacritiquc,sodiminnc(q
because it is only partially correct. (Remember that when qualified appears on the exam, it rarely
tcfusmqmliﬁmﬁonsoracdmdals.)Beauscdlcrcisnoamlyrirofcvidcnocatworkinthcm
(D) can be eliminated as well. Choice (B) is correct because the author sustains an aggressive artack
on a position while employing humor and irony throughout.

You have two tasks on this question: ensure that the statement relates to the topic of the paragraph
and make sure it is engaging (has a hook). The topic of this paragraph, much like the main idea of
dxcndrcpamgc,isdntsmdiumsubsidiaarcharmﬁdwdtim Choices (A) and (C) can be elim-
inared because they do not convey the downside of building a new stadium. Choice (D) engages
the audience with 2 real-world example of a ity that is experiencing the consequences of stadium
subsidies, while the statement in (B) is a bit general. Eliminate (B). Choice (D) is correct.

The main idea of the passage is that stadium subsidies have a serious downside in terms of 2 munic-
ipality’s budget. Keep (A) because it directly references budgetary consequences. Choices (B) and
(D) can be eliminated because they have nothing to do with local budgets. Choice (C) may scem
tempting, but the main idea is about the consequences, which are not referred to in (C). Eliminare
ir. Choice (A) is correct.

The author’s main point is that the benefits of a new professional sports stadium do not justify using
local bonds to fund them. While (A), (B), and (D) are about constructing new stadiums, they do
not tie in the idea of using local funds. Eliminate them. Choice (C) is correct.
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Sentence 6 shows how an oppositional perspective can be dismissed. Sentence 7 does the same
thing with another p\m‘if'xlc piece of oppasitional evidence, Since these sentences are doing the same
thing, you need a transitional word that shows agrecmient. Cholces (A), (B), and (€0) can be climi
pated because they all should be used when one sentence shows a contrast 1o another furthermore
P;ovlda the necessary agreement transition, so (1)) is correct.

For this question, you want o keep the focus on what might justify a city making a poor financial
choice. Further, that decision should be due to pressure trom a sports franchise. Use 'O Choice
(A) is incorrect because it relates neither to making a poot financial choice nor pressure from a sports
ream. Eliminate it. Choice (C) references a poor financial decision, but there is no evidence that it
s under the pressure from a professional sports franchise. Lliminate it. Choice (D) is about decision
makers not supporting the usc of stadium subsidics, 50 it can be eliminated. Choice (B) indicates that
cities cave to pressure from sports teams because they do not want to lose their local team to another
ary. This accomplishes the goal, so the correct answer is (B).

The proposed sentence starts with the phrase wharever the case, which implies that it comes after
the discussion of more than one potential reason. Choices (A), (B). and (C) can all be climinated
because they occur before the discussion on potential reasons has concluded. The sentence should
go at the end of the paragraph, which delves into the question of why cities might offer stadium
subsidies. Choice (D) is correct.

Since this is an EXCEPT question, you want to find the one answer choice that stands apart from
the rest. Choices (A), (B), and (C) are all supportive of the author’s claim that tax-payer funded
stadium subsidies are bad for cities. Choice (D), however, looks into the benefits of building a new
stadium. This would contradict the author’s main purposc. Choice (D) is, therefore, correct.

For this question, you want to find evidence of a team actually leaving a city because it did not get
a subsidy to build a new stadium. Choice (A) is an example that perfecty fits this scenario. Keep it.
Choices (B) and (C) arc irrelevant to the issue at hand. Eliminate them. Choice (D) does discuss
stadium subsidies, but takes a left turn by mentioning a tcam may leave even after gerting what it
wants. This is not as directly aligned with the claim as (A), so eliminate (D). Choice (A) is correct.

Since the question mentions a call to action, look for an answer choice that references a remedy,
or at least doing something, to combat the practice of offering stadium subsidies. Choice (A) does
not do this, but rather states that the practice will be an Inevitability for years to come. Eliminate
(A). Choice (B) is at least solution-oriented (Lawmakers must find a way), so that is worth keeping,
Choice (C) is incorrect because, while it opposes stadium subsidies, it is certainly not solution-ori-
ented. Choice (D), like (A), is morc a statement of incvitability, bereft of any semblance of a solu-
tion. Eliminate (D). The only choice remaining is (B), which is the correct answer.

For this question, you want 1o find an answer choice that touches on both the patients’ healthcare
needs and their lack of information on the topic (and thercfore the need to learn more). Choice (A)
conradices much of the passage because it suggests that a patient’s convenience is morc Important
than receiving proper medical trearment from & quality doctor. Eliminate it. Choice (B) Is plau-
sible because it focuses an the complexity of the healthcare system (no awo doctors are alike, diverse
facwrs), in which padents would need 1o be advised as 1o which doctor is most appropriate for their
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needs. Choice (C) is extreme and contradicted by the rest of the passage, which focuses on Ways
patients can learn about their doctors. Eliminate it. Choice (D) is incorrect because the idey of
interchangeable doctors would undermine the need to evaluate them, which contradicts the majp
idea of the passage. Choice (B) is correct.

34, D Sentence 2 is concerned with subjective evaluations of doctors, while sentence 3 looks at newer
“objective” ways to measure doctor quality. Since you are looking for a contrast, find an answe,
choice that provides a contrast. Choice (D) is the only transition word that contrasts. Choices (4),
(B), and (C) are incorrect because they all signal transitions to similar ideas rather than contrasting
ones. Choice (D) is correct.

35. € Since this is an EXCEPT question, you want to find the one answer chc?ic':c that stafxds out from the
rest. Choices (A), (B), and (D) all deal with methods of evaluating physicians. Choice (C) is the one
choice that is irrelevant to the evaluation process, so it is the correct answer.

36. B The main idea of the paragraph is that the new trend in doctor evaluations comes f:rom the perspec-
tive of patient satisfaction and health outcomes. Therefore, it is from the perspective of the healch-
care consumer. Choice (A) is irrelevant to the rest of the paragraph. Eliminate it. Furthermore, elim-
inate (C) because it focuses on feedback from the medical community, racher than from patients,
which is the focus of this paragraph. Choice (D) is tempting because the author goes on to explain
that these are flawed approaches, but that does not occur until the third paragraph, and it is there-
fore not connected to the main idea of the second paragraph. Eliminate (D). Choice (B) indicates
that the assessment is from the perspective of the consumer, so (B) is correct.

37. B Use POE on this question. If an answer choice does not give evidence of an unfair system, eliminate
it. Choice (A) suggests that what patients say in their feedback is consistent with other types of
evaluations, which would indicate that patients are accurate and therefore, fair evaluators of physi-
cians. Eliminate it. Choice (B) states that patients are not necessarily qualified to evaluate physician
quality. If they are in a position to do so, then this would be evidence of an unfair system. Keep (B).
Choice (C) should be eliminated because it suggests that one of the forms of evaluation currently
in use (measuring long-term patient outcomes) is relatively effective (at least more so than patient
surveys). Choice (D) is incorrect because a quote from a health-consumer advocate would likely
argue that patients provide relevant, effective feedback and should be considered for evaluation.
In other words, this type of evidence would defend the fairness of the current system. Choice (B)

is correct.

38. D In the third paragraph, the writer claims that some patient populations could be harmed by the
current system of evaluation because it would disincentivize doctors from taking on patients with
conditions that are more chronic (obesity, congenital diseases) because the effects of those condi-
tions will likely persist despite medical intervention. Therefore, some doctors may not want to take
on these patients because their health circumstances would reflect poorly on their physicians. This
is the opposite of (A), so eliminate it. Choice (B) is something that would make the system fairer
to docrors, but it does not explain why some patients could be avoided by physicians. This answer,
along with (C), is irrelevant. Eliminate both. Choice (D) is correct because it best describes the
disincentive system that is created by tracking patient outcomes.
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39. A The f(f)(;mh P“-\f‘-lgmph describes the problems with the current system of physician evaluation.
Therefore, this sentence would make a great topic sentence as it gives a general claim about the
all-around flaws of doctor evaluation. Choices (B), (C), and (D) are incorrect as they would

awlw:\rdly. misplace a topic sentence into the middle or end of a paragraph it was intended to intro-
duce. Choice (A) would place this as a topic sentence, and thus is correct.

40. A The main argumenc of the passage can be found in the first paragraph: patients need a fair way
to know which doctors are most effective. This purpose is reflected in (A), which is the correct
answer. Choice (B) is incorrect because it goes too far: patient input does not need to be completely
removed from the process, but there are flaws in relying solely on patient input. Choice (C) is incor-
rect because it focuses on one detail from the third paragraph, rather than the passage as a whole.

Eliminate (D) because the passage states that measuring the patient experience is a flawed method
for evaluarting physicians.

41. D The main argument of the passage is that zoos have many benefits that outweigh the problems of
keeping animals in captivity. Choice (A) is incorrect because the author does not tout the entertain-
ment quality of zoos. Choice (B) articulates an oppositional argument. Eliminate it. Choice (C)
does not relate to the benefits the author goes on to mention (research, education, conservation),

so it is incorrect. Choice (D) does the best job conveying the author’s central claim and is therefore
correct.

42. B For this question, look for an answer choice that conveys how successful zoos have been in repopu-
lating animal species. Choice (C) can be eliminated because it indicates failure. Choice (D) is incor-
rect because it is irrelevant to explaining how the zoos have provided a necessary service. Although
both (A) and (B) describe success, (A) is too measured, indicating only moderate outcomes.

Eliminate (A). Choice (B) is correct because it notes that the programs have had dramatic effects
(successes) recently.

43. D Since this is an EXCEPT question, use POE. The answer to this question should be an answer
choice that makes zoos look bad, while the incorrect choices are all supportive of the author’s
defense of zoos. Choices (A), (B), and (C) all support zoos and can be eliminated. Choice (D)

shows a problem with zoos, and is therefore the correct answer.

44. C  Sentence 8 builds directly from sentence 7: both sentences argue that some important research
comes out of zoos. Therefore, look for a transition that shows agreement between ideas. Choices
(A), (B), and (D) are incorrect because they are all transitions to be used when showing contrast.
Choice (C), In fact, shows agreement, so the answer is (©):

45. D  For this question, locate an answer choice that sees zoos as beneficial. Choice (A) is incorrect because
the current sentence does not provide closure and conveys a troubling tone if not followed up with
a more solution-oriented sentence. Choice (B) is incorrect because its matter-of-fact content is not
the author’s central claim. Choice (C) is the opposite of the author’s claim about the benefits of
200s, so it should be eliminated. Choice (D) is correct as it is consistent with the central claim and
the author’s tone.
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SECTION I1: FREE RESPONSE

Rubric—1 + 4 + 1 = 6 pts

A.  Thesis (0~1 pts)
© Responds to the prompt with a thesis that presents a defensible interpretation of the selected
work.

B.  Evidence and Commentary (04 pts)
o Evidence: Provides specific evidence to support all claims in a line of reasoning.
o Commentary: Consistently explains how the evidence supports a line of reasoning,
o Explains how multiple literary elements or techniques in the poem contribute to its meaning,

C.  Sophistication (0-1 pts)
o Demonstrates sophistication of thought and/or develops a complex literary argument.

Question 1—Synthesis Essay

How to Score 6 Points
* Address the prompt with a defensible thesis.
* Present specific evidence from at least three sources and consistently explain how the evidence supports
your thesis statement.
* Use style and rhetoric to persuade the reader.

Source Overview

Source A: Drugs of addiction function by flooding a person’s nervous system with dopamine, causing a
euphoric experience. Overtime, drug users build tolerance, resulting in a depressive state without
drugs and a need for a higher quantity of drugs to experience the same initial high.

Source B: Many people are unable to experience happiness because they are worried about the future.
Mindfulness, the practice of bringing one’s attention to the present moment through meditation,
allows individuals to enjoy the present. Mindfulness benefits one’s health and the quality of one’s
relationships.

Source C:  This map depicts average, self-reported happiness from different nations across the world. Measured
on a scale from one to ten, where ten represents one’s best possible life. Much of the Eurasian
continent responded with levels between five and seven; North America, South America, Western
Europe, and Australia responded with levels between six and eight; nations in Africa responded
with levels between two and six.

Source D: The world happiness survey seeks to measure happiness by nation based on six variables: income,
healthy life expectancy, social support, freedom, trust, and generosity. Denmark, Switzerland,
Norway, and Finland have held the top rank in recent years. Obesity, the opioid crisis, and depres-
sion threaten happiness in the United States.

Source E:  Some psychologists suggest that happiness can be found when the mind is engaged in flow. Flow
occurs when individuals are presented with significant challenges for which they are highly skilled.

Source F:  Timothy Ferriss describes making $70,000 per month and feeling exhausted due to workaholism.

Leaving his work to travel was a risk but offered huge rewards, and his life has been a “near fairy
tale” ever since.
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G The average American spends roughly 20 years in retirement, and lifestyle costs can be between

Sousee 70% and 90% of those that one incurs while working. Individuals need to prepare for their retire-

ment finances by taking advantage of their employer’s retirement benefits, maximizing personal
investments, and letting investment monies accrue over time.

sample First Paragraph

<an be as many definitions of happiness as there are people on Earth. For some, personal satisfaction can
Toere finding casc and peace in the present moment; For others, happiness is knowing they have a family to go
m ¢ w0 or that they won't be a burden on others when they're no longer able to provide for themselves. Life

h(z];facli on is best achieved by striking a personal balance between living in the moment and preparing for the
sa
future-

question 2—Rhetorical Analysis Essay

How to Score 6 Points
Use the Rherorical Diamond! While you're reading the prompt and the passage, imagine—and try to flesh

out—a baseball diamond with the following six points:

Author

Exigency
Audience Context

Message

Purpose

Author: C.$. Lewis

Audience; Intellectual British skeprics

Purpose: To conyey the value of Christianity to intellectual British skeptics

Contexts Written in the eardy 20* century for a predominantly British, academic audience

Exigency: C.5. Lewis’s dosire for intellectual discourse and/or the presence of potential military conflict presents
 need for religion,

Message: As life inevitably jncludes fear, anxiety, and sclfishness, Christianity provides opportunitics to show
sompussion and love to fellow humans.

Sample Rhetorical Modes and Devices
¢ '-"Plﬂollry structure; "My dear Wormwood....”
* Persoutfication: “Lhe fictional author (*I") is an elderly devil writing to “Wormwood,” whom is also
referred w as “you®
. Pcmniﬁatl?w ‘The letter refers to the “Enemy,” the Christian conception of a personified deiry.

e
e
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* Allegory: *It is your business 10 see that the patient never thinks of the present fear as his appointed crog,
but anly of the things he is afraid of. Let him regard them as his crosses...

. l)'“nltlm“ “Your patient will, of course, have plgktd up the notion that he must submit with P“kl'lu to
the Enemy's will. What the Enemy means by this is primarily that he should accept v:ith patience the trih.
ulation which has actually been dealt out to him — the present anxlety and suspense.

Sample First Paragraph

Faith 1s commonly congdcngj 10 be belief in the absence of evidence. C.S. Lewis took on a great challenge in
trying to convince the intellectual religious skeptics of his day to appreciate the valu_c of Chrinil:\lty. To do so,
Lewis wrote The Screwtape Lettens, fictitious leviers from an elderly devil to a younger Warmapnl"avisirg b
on how to best corrupt humans, By taking advantage of the epistolary structure, personification, and allegory,
Lewis posits thar Christianity provides opportunities for love and compassion amid a life that is troubled by
anxiety, temptation, and selfishness.

Question 3—Argument Essay
How to Score 6 Points

* Take a definite position, so no one will question where you stand on the topic of the prompt.

* Develop an argument that builds and moves forward instead of simply repeating the same point several
times in different ways,

« Support the points in your argument with evidence drawn from your own knowledge, reading, experi-
ences, and observations.

* Explain how your evidence supports your argument.

Sample Evidence
« Galileo contradicted the Catholic Church by arguing against the idea that the Earth was the center of the
solar system. He was prosecuted as a heretic and spent much of his life under house arrest.
* During World War 11, those caught fighting for the Jewish resistance were sent to concentration camps
and/or execured.
+ The U.S. Supreme Court provides a peaceful means of protesting laws one finds unjust. State laws
upholding segregation and banning gay marriage have both been successfully overturned.

+ Mahatma Gandhi was shot by a Hindu religious extremist while working to unify Muslim and Hindu
factions in India.

+ Martin Luther King, Jr. was assassinated by an escaped fugitive. The assassin confessed, but rumors ofa
government conspiracy to eliminate King have persisted.

Sample First Paragraph

Galileo, Mahatma Gandhi, Martin Luther King, Jr, and even Voltaire himself suffered the dangers of being “right
in matters about which the established authorities are wrong.” While history is filled with countless examples of
individuals who suffered great dangers for challenging the established authorities of their time, there are institu-
tions today that provide both a means for peaceful protest and hope for the further progress of human society.
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